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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Windows 98 was developed in the year

Options:
1. % 1994

2. ¥ 1998
3. % 2001
4. % 2004

Question Number : 1 Question Id : 2549896237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Windows 98 H Tt e e T am

Options:

1. % 1994
=z ¥ 1998
3. % zo01

4. % 2004

Question Number : 2 Question Id : 2549896270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The owerall term for creating, editing, formatting, storing, retrieving and printing a text document is called as

Options:

1. % word processing

2. * spreadsheet design
3. % web design

4. # database ITAnagermnent

Question Number : 2 Question Id : 2549896270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U 3T ETagie B i, e, wie, w0 R v e ma T 2
Options:

1. ¢ g2 usfEm

2 ® wiEdte EemEg

3 ® oa g

4 ® 2T vEEe

Question Number : 3 Question Id : 2549896303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TAH W BT AT F AT 57

Options:
1. % femorgfe
2. ® giepmiirdter 9 g (ALL)



3. % et
4. ¥ g (o

Question Number : 3 Question Id : 2549896303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is different from the others?

Options:

1. #* Control Unit

= % Arithmetic Logic Unit
I. % Register

4 ¥ Printer

Question Number : 4 Question Id : 2549896347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The mouse cursor seen on the deskrop is also called af) -
Options:

1. % arrow pointer

2. % key pointer

2. % display pointer

4. % strike pointer

Question Number : 4 Question Id : 2549896347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Eeme 1T O ToHETE 3 ATel ATIH HEL Hl
Options:

1. v IR g

2 % gt

3. % godd gEw

4. ® TEE gIw

Question Number : 5 Question Id : 2549896431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Hard disk is coated o both side with
Options:

1. ¥ magnetic metallic oxide

2. % optical metallic oxide
2. % carbon layer

4. % optical layer

Question Number : 5 Question Id : 2549896431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

712 TEeF 1 a0 g & 1T &1 A4 T 87
Options:

1.« fufes e sTaaEs

2. ¥ e Bdform ATFaEs



2 ® g e
4. # afivEed oY

Question Number : 6 Question Id : 2549897067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TH | I AT Fa o et 87
Options:

1. % Sz fiex

2 ¥ o e

3. % g T

4 % ZH-mpid Wew

Question Number : 6 Question Id : 2549897067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of these is the fastest printer?

Options:

1. % Jet printer

2. ¥ Laser printer
3. % Inkjet printer

4. % Daisy-whesl printer

Question Number : 7 Question Id : 2549896257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When vou install 8 riew prograrm on your cormputer, it is typically added tothe ______ ITIeTI.
Options:

1. ¥ all programs

= % select programs

Z. ® start programs

4. % desktop programs

Question Number : 7 Question Id : 2549896257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
el T S0 HET H U 4T W STad &, 99 TG 0 96 ______ e ® At forar =mar 21

Options:

1. & T wmmer

2. ® TR Ao
3. % T
4. % ZvepeTd WO

Question Number : 8 Question Id : 2549896272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The word wrap feature in M5 Word:

Options:
1. ¢ automatically mowves the text 10 the nest line when necessary.

= % appears at the bottom of the docurment.



3. % allows you to type over text.

4. % iz the short horizontal line indicating the end of the document.

Question Number : 8 Question Id : 2549896272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Word H sfeg ¥ (word wrap) b= a7 FaT 57

Options:

1. & T ST 59T 5 o &1 S0 ST SATAT Ale H 99 24T 21
2 % Zioehe & A foms ZaT 8

3. % T & IOT TIET WA G TArd dar gl

4 % U OICT SIST A §ia1 & Al STFgRT & o g ® Hard gaf gl

Question Number : 9 Question Id : 2549896344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ are similar to notebook computers, usually having a touch screen or pen-enabled interface.

Options:

1. ¥ Desktop computers
2. ® Mainframe computers
= % Mini computers

4. ¥ Tahlet PCs

Question Number : 9 Question Id : 2549896344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ FiTe P F B TA & U ATH J1 02 U2 T T I AT U- 840 Sodthe giar ol
Options:

1. % el g

2. ¥ ww

3. % Tl P
4 Faeie A

Question Number : 10 Question Id : 2549896372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ utility identifies unnecessary files on the hard disk and erases therm based on the user's cormmand.

Options:

1. ¥ Backup

2. % File Compression
=, % Uninstall Program
4. ¥ Disk Cleanup

Question Number : 10 Question Id : 2549896372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ FieTeret 512 T2e® W ST BIga! @ Ugd | & A% JUAHT] o FHIS & TR 0¥ Irg Hel ddf 2l
Options:

1. % damam

2. ® HIER wEE



2. ¥ OTE aMEETe
4. ¥ fEew w3

Question Number : 11 Question Id : 2549897572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1= T e g Sie et & =amar wgh #7
Options:

1. ¥ ®eR et

2. ® 29 (Chain) T

% % =g

4. ® wigt e

Question Number : 11 Question Id : 2549897572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following printers is more expensive than ink jet printer?

Options:

1. % Laser Printer
2. ®* Chain Printer
3. % Drurn Printer

4. % Photo Printer

Question Number : 12 Question Id : 2549897574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A T [T T 227 1 Ug o Ty 1o T2y o7 ST T =T 27
Options:

1. ® MICR

2 ¢ gRElE e

2. ® 99 3

4 % FiiEar e

Question Number : 12 Question Id : 2549897574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following devices is used to read bar coded data?

Options:

1. ¥ MICR

2. % Barcode Eeader
3. % Web Cameras

4. % Video Carmnera

Question Number : 13 Question Id : 2549897298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

g o T FI9 O UF 3 ext HIEA U] AR 7
Options:

1. % ext 2

= ®oext3



3% exnt 4
4 ¥ oyt S

Question Number : 13 Question Id : 2549897298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is NOT a valid ext file system?

Options:

1. % ext 2
= ®oext3
3% exnt4
4 ¥ ext &

Question Number : 14 Question Id : 2549898410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 Esxccel H @1 AT Gera e 6T &1 S T ST o T U Soee Weqd [0 § aaadl 7
Options:

1. ¥ RADIX B

2. ¥ BASE e

3. % BRADIY thaa

4 % NRADIE heae

Question Number : 14 Question Id : 2549898410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich function converts a rurmber into a text representation with the given radix in M5 Esxcel?

Options:

1. ® RADIX function
= % BASE function

2. ® BRADIX function
4. % NRADIX function

Question Number : 15 Question Id : 2549898665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A AT Few (OpenOffice Calc) # haam ROWS (G4:GE) T 47 JTIeqe g7

Options:
1. %2
2. ¥ 3
3 % 4
4 ® g

Question Number : 15 Question Id : 2549898665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what will be the output for the function ROWS(54:GE) in an OpenOffice Calc?

Options:
1.% 2
= 93



o o4
4 % g

Question Number : 16 Question Id : 2549896283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TRt 8 # 72T HgeT WIed! & g H 30 51 57

Options:

1. % Fregi gizam § g1 T 227 %7 |UE 3

2. ® AT WIS @ U A0 51a7 2]

2. WIEAT S AT T AT & o T ORI T ST IS s S i O TR S 2

4 % wEdAl H GHFGT: 2TTEETE

Question Number : 16 Question Id : 2549896283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following is MOT true about the computer files?

Options:

1. # They are collections of data saved to a storage medium.

2. % Every file has a file name.

= ¥ A file extension is defined by the user to indicate the files content,

4, % Files usually contain data.

Question Number : 17 Question Id : 2549896496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
EaT A T ATAT TRl e i &7 477

Options:

1. % ARPANET
2. % NS5Fnet
2. % ynet

4. % Inet

Question Number : 17 Question Id : 2549896496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The first network that planted the seeds of internet was:

Options:

1. % ARPANET
2. % INSFnet
3. % Vnet

4 ® Inet

Question Number : 18 Question Id : 25498910848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the oldest form of printing?

Options:
1. % Screen printing
2. ¥ Letter press



3. * Gravure

4. % Flexography

Question Number : 18 Question Id : 25498910848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TRTERET | & 9 A7 Wi %7 Gad X1 & 27

Options:

1. % & Wi
2 ¥ T

z % TR

4 ® RS

Question Number : 19 Question Id : 25498911092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
g # & @9 o Tiiee & e o 27

Options:
1. % T T W U

2. % ot ggur i
3. ® IT9 gEOT e

4. ¥ 38 O it Hee

Question Number : 19 Question Id : 25498911092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the advantage of Laser printer?

Options:

1. # Efficient use of toner
= % Fast printing speed

3. % Excellent print quality
4 ¥ All of the options

Question Number : 20 Question Id : 25498913356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ is a sequence of frames.
Options:

1. % Digital video

2. % Digital image

3. ¥ Analog image

4. % Image file

Question Number : 20 Question Id : 25498913356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ THIT T e ST 31
Options:

1. ¢ TEfaee iz
2 % EhewREE



Question Number : 21 Question Id : 25498913768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fe IO ET T (R aree) FT 5T 27
Options:

1. ® Ewedaes T e g g

2. ® AT AT TTAa1E 2]

3. ¢ TwdaEs o T ¥ TorRaT T T
4. ¥ TEmpTEaee AT UTEdT 2l

Question Number : 21 Question Id : 25498913768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 15 cipher text?

Options:

1. % Ciphertext is regular text.

2. % Ciphertext is normal text.

3. ¥ Ciphertext is encrypted text.

4. % Ciphertext is plain text.

Question Number : 22 Question Id : 2549896295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
%ﬁﬁﬁﬁwﬁmwm%ﬁﬁwﬁﬁﬁﬁmﬁwaﬁﬁﬂswﬁﬁmaﬂﬁﬁ?ﬁqﬁﬁﬂnﬁr—uﬁaﬂﬁaﬁwmm

Options:

1. ¥ T
o ® e
z % Tt
4 % med

Question Number : 22 Question Id : 2549896295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In which of the following devices can yvou plug warious multi-port cards to provide additional access as the
networl grows i1l sizey

Options:

1. % Switch
= % Bridge
3. # Repeater
4. % Gateway

Question Number : 23 Question Id : 2549897333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which file format is used to save Microsoft Access report snapshot?
Options:

1. % ranp



= ¥ snp
3. ® reg

4 % asnp

Question Number : 23 Question Id : 2549897333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Microsoft Access TOi Ruaie #t @8-+ & 70 #19 & HTge BTHC &7 I far Fmar 27

Options:
1. * rsnp
2 ¥ snp
3 % rss

4. % asnp

Question Number : 24 Question Id : 2549898191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ T W7 & o o o I T ST d AR U | 3 SIgHTd SFadT JHeT AR o fsibT 51 ST & &am

Options:
1. % o=
2. % gitereraT
3. ® UTEmE
4. & g

Question Number : 24 Question Id : 2549898191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ 15 a program installed without a user's consent or knowledge during the installation of another program.

Options:

1. % Mail

2. % Application
2% Antivirus

4. ¥ Spyware

Question Number : 25 Question Id : 2549898210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T FIEa EC T AT ey & A 1 F0ded UL B0 9d 903 a9t [ (Bornb Error) @1 AT T3] F4T 24T

Options:

1. ¥ Apple Macintosh
2. % Android

2. % Unix

4. % M5-DOS

Question Number : 25 Question Id : 2549898210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The users of the following Operating Systems EXCEPT
the computer.

do MOT encounter bormb errors whern operating



Options:

1. ¥ Apple Macintosh
2. % Android

3. % Unix

4. # M5-DDS5

Question Number : 26 Question Id : 2549898357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

______ et T & g AT Hl Brac] il Sl ST TCIeor e 2]
Options:

1. ¥ MER

= % BIOS

3. ¥ POST

4. % CFU

Question Number : 26 Question Id : 2549898357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ is the forermost routine which checks and tests the basic hardware.

Options:

1. # MER
2. % BIOS
3. ¥ POST
4 % CPU

Question Number : 27 Question Id : 25498913354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Cuantization makes a sigrial truly

Options:
1. % AC

Z % DC
2. ¥ digital

4. % analog

Question Number : 27 Question Id : 25498913354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

THTE I (FTieata) Teret e &1 aeaa o
Options:

1. % AC

2 ® DC

z. ¥ fEhEe

4 % TATANT

Question Number : 28 Question Id : 2549899438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
& printer is classified as an impact or a non-impact printer and the classification is based on:

Options:



1. % price

2. % operating system
3. ¥ technology

4. #® generation

Question Number : 28 Question Id : 2549899438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

e T T griee AT AT9-sriee e & w0 § arfigd o S & o anfiao
Options:

1. % &g

2 % il ey

3 ¢ FE-E

4 ® FAta

Question Number : 29 Question Id : 25498910800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Hepterere THee fope o e T ar?

Options:

1. % 1820
2. ¥ 1822
3. % 1850

4. % 1852

Question Number : 29 Question Id : 25498910800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Mechanical printer was dewvelopead in which vear?

Options:

1. % 1820
= ¥ 1822
3. % 1850
4 % 1852

Question Number : 30 Question Id : 25498918445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T # & 9 U s uie Al 87
Options:

1. % USE

2. ® fie a1 it (ww

z ¢ amam

4 ® goe ar deder

Question Number : 30 Question Id : 25498918445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which one of the following is NOT a cornputer port?

Options:



1. % USE

2. % Printer or Parallel

3. ¥ Backup

4. % Ethernet or Network

Question Number : 31 Question Id : 2549896204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT (Yahoo), T (Google) #% THTEU (MSN) _______ 2
Options:

1. ¢ g wrEed

o % G

3 % grawe

4 ® gorde didg olaged

Question Number : 31 Question Id : 2549896204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wahoo, Google and MSH are the .

Options:
1. % internet sites

2. % computer brands
3. ¥ prowsers

4. % internet service providers

Question Number : 32 Question Id : 2549896208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
sending arn E-mail is like
Options:

1. % creating an image of any event

2. % telling a story
2. ¥ writing a letter

4. ¥ creating an image

Question Number : 32 Question Id : 2549896208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e U _______ FTE R

Options:

1. % fopdt gefe & SR (o) a3 o
2. % gl g

z. v o e

4 % e SIS (FEE) FAR FA

Question Number : 33 Question Id : 2549896276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Word Hctrl + B T JUhT g F1 F- o o BT R

Options:



1. % i

2, % SETAEA

= ® e offv slzvame
4 ' IFE

Question Number : 33 Question Id : 2549896276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Inn M5 Word, ctrl + B 15 used to make the text

Options:

1. * italics

= % underlined

3. % italics and underlined
4.+ bold

Question Number : 34 Question Id : 2549896633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

ST e H e ______ T AST AT a1 & 2 T TEg St (Femsem & 90, 39 uaT, E-8a a7, FcH 7 A7 Sed ) o
AT o ToT o T a8

Options:
1. % e Menulink)

2. ¥ TEWHAT Hyperlink)
3. % gafeiw (Toollink)
4 % gaEsie® (Slidelink)

Question Number : 34 Question Id : 2549896633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& can be added to your presentation and then usad to manoeuyre to a variety of locations. e.g., aweh

address, an e-mail address, a custom show or docurment)
Options:

1. % Menulirk

2. ¥ Hyperlink

3. # Toollink

4. # Slidelink

Question Number : 35 Question Id : 2549896669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Mowing text automatically to the next line 15 called:

Options:

1. % insert word
2 % align word
2. ¥ word wrap

4. % shift word

Question Number : 35 Question Id : 2549896669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T HT ATHT Uids H Talicld ©F & o AT 54 747 F5T AET 57



Options:

1. % segew

2 ® g HET W
2 Va2

4 # geg ot o w¢

Question Number : 36 Question Id : 2549896955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TS TTTA ST SIT0aT Uit 3% T et oF ST W] 0% TI0T & H SaA a=mar s, 38 ______ FETAMTZ |

Options:

1. & wi=Ese ummm
2. % 92 Oeear

3. ¥ Trithere e
4, % fFzr

Question Number : 36 Question Id : 2549896955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& prograrmn Which enables vou to perform calculations on rows and colurmns of numbers data type 1s Called a

Options:

1. ¥ spreadsheet program
2. ® word processor

2. % graphics package

4 % yindow

Question Number : 37 Question Id : 2549897395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which tab is used in M5 Word to add a table of content?

Options:

1. % IMNSERT

= ¥ REFEREMCES
3. % TAELE

4. % FORMAT

Question Number : 37 Question Id : 2549897395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Word B Tore 3 T JUUnT S 0 T & 1w A add 57

Options:

1. % INSERT

2. ¥ REFEREMCES
2. % TAELE

4. % FORMAT

Question Number : 38 Question Id : 2549897462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat is the key combination to increase the font size of the selected text in MS PowerPoint?



Options:
1. ® CTRL+SHIFT

2. % CTREL+SHIFT + >
3. ¥ CTREL+SHIFT+<
4 % CTELA+UP ARROW

Question Number : 38 Question Id : 2549897462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS PowerPoint § TaiWd TT & Wive ST &1 931 & 10T gratt Fr= 77 87

Options:
1. ¥ CTRL+SHIFT

2. % CTEL+SHIFT + >
3. ¥ CTREL+SHIFT+<
4. % CTRELA+UP ARROW

Question Number : 39 Question Id : 2549898023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Irn MS Excel, chart 15 also called as Scatter chart,

Options:

1. % pie
2. % bar
3. ® stock
4 ¥ HY

Question Number : 39 Question Id : 2549898023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_______ TTE B MS Excel H waed ame f FgT AT 2]
Options:

1. % g

2 % 9N

3. % wWiw

4. Y

Question Number : 40 Question Id : 2549897110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

THET H, cafd T4 § fopelt seg ol TE15@ Fe o T
Options:

1. % FRIe (TEeieee)

o ® ETEEN

3. ¥ TEe

4 % 2q

Question Number : 40 Question Id : 2549897110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In1 Skype, characters are used to strike a word in instant messagirg.

Options:



1. ¥ asterisk

2. % ynderscore
z ¥ tildes

4 % hash

Question Number : 41 Question Id : 2549897421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T o T SN Wk g2 GEA T WSS W el T ST HedT e

Options:

1. % EDIT

2. % FORMAT

3. ¥ REVIEW

4, % PAGE LAYVOUT

Question Number : 41 Question Id : 2549897421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ev using which tab you can translate text in Word docurment?

Options:

1. % EDIT

2. % FORMAT
% ¥ REVIEW

4 ® PAGE LAYOUT

Question Number : 42 Question Id : 2549897987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following procedures is used to send money by EHIM AFP?

Options:

1. % Home Screen — Send option — Receiver mobile no
2. % Enter Amount — Default bank acc — UPI PIN

3. % Default bank acc — UPI PIN

4. ¥ Home Screen — Send option — Receiver mobile no — Enter Amount — Default bank acc — UPL PIN

Question Number : 42 Question Id : 2549897987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o & & oftA (BHIM) U ST 118 S i Wi & 27

Options:

1. % g1 & — O B@eT — WmEd T Al da)

2. % i o Wt — ETee o @maT — Ot Mg (UPL) T

3. % Zwiee o @mar — ot amg (UP g

4 g EhE — 9 T — UTHEd | BiEEe Je — Y9 g9 @ — TEWire d@ AT — U e (UPD i

Question Number : 43 Question Id : 2549898026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ ATe, M5 Excel H, TU0T & 9T o Helel BT 3ATdT 5 77 SHH 227 1 U o 1127 @1 GHTEd 51d 1 2l

Options:



1. =T
o % vy
3% F@EA
4. % whe

Question Number : 43 Question Id : 2549898026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Inn M5 Esccel, ______ chart depicts the relationship of parts to a whole and it contains more than one data series.

Options:

1. ¥ doughnut
= % scatter

3. % line

4. % syrface

Question Number : 44 Question Id : 2549898384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 Exccel H, Aol ger o Tl fent |aTe, o1ad @i Ui e o ol grat @i T 7
Options:

1. # SHIFT+F11

2. % CTREL+F2

3.9 ALT+FS

4. % SHIFT+F3

Question Number : 44 Question Id : 2549898384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What i3 the key combination to display the Macro dialog box to delete a macro in MS Excel?

Options:

1. ® SHIFT+F11
= % CTRL+F3

3. ¥ ALTHFE

4. % SHIFT+FZ

Question Number : 45 Question Id : 25498910470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
swaps CAPS to lower case and lower case to CTAPS.

Options:
1. ¥ Lowercase

2. % Capitalize each word
3. *® Sentence case

4. % Toggle case

Question Number : 45 Question Id : 25498910470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CAPS T ATadd § 3T Alenag w1 CAPS H a2 24T &1

Options:



1. % Aramad
2, % o fe W AST W
3 % Himam
4. & T &

Question Number : 46 Question Id : 25498910633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Single spacing in document is generated by which point line spacing?
Options:

1.¥ 12

= % 10

3% 14

4 % 18

Question Number : 46 Question Id : 25498910633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

AT R T fore Ty o T & i g £
Options:

1.9 12

2. % 10
3. % 14
4. % 15

Question Number : 47 Question Id : 25498913279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Excel H Fepiet %1 NI oo a7 & o To, Td aX & T T TR W

Options:
1. % mrar
2 ¥
3 %l
4 % Zar

Question Number : 47 Question Id : 25498913279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To record or view Macros in the M5 Excel, click on tab from task bar.

Options:
1. # FORMULAS

2. ¥ VIEW
3. ¥ INSERT
4. % DATHA

Question Number : 48 Question Id : 25498913295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ Talield 0 9 TISdie § GUgiT 221 B WiHd B¢ G@dT 5, THT F qFdT 5, FoAa T AT AT THT TFaT 51

Options:



1. & Tiae arierr
2. % s

3. % fmr

4 % T

Question Number : 48 Question Id : 25498913295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ can autormatically sort, count, total or average the data stored in spreadshests.

Options:

1. ¥ PivotTakle
= % Function
3. % Macros

4. % Chart

Question Number : 49 Question Id : 25498910509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T A3 U UF e TiEet TS5 AT AT & 9 SEwT U SR T 57
Options:

1. ¥ g5 ¥55"

2 ¥ 1169 ¥ 16.54"

I ELL

4 % 11 69" ¥ 115"

Question Number : 49 Question Id : 25498910509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If Raghu wants to design a poster on 43 paper, then what would be the page size?

Options:

1. ¥ 25" K55

Z ¥ 11 69" ¥ 16.54"
3. %8 K11

4 % 1169 ¥ 115"

Question Number : 50 Question Id : 25498911477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Thereare ______ check boxes under the AutoCorrect Tab when correcting spellings in M5 Office programs.
Options:

1. % 4

2. %5

3.¥ 8

4 % 7

Question Number : 50 Question Id : 25498911477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Office TH # Td-1 @1 @81 Fd TAT ATl FF o & I5d e AT E 1 B

Options:



1. % 4
2. %5
3.¥ 8
4 % 7

Question Number : 51 Question Id : 25498918923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
RIS U T AT ATeehe FaY Bl UL EPte O of SATdT 57

Options:

1. ® CTEL + SHIFT + <
= % CTEL + SHIFT + 3
3. % CTEL + SHIFT+ >
4 % CTEL + SHIFT + +

Question Number : 51 Question Id : 25498918923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which shortcut on the keyboard places the cursor for superscripts?

Options:

1. % CTEL + SHIFT + <
2. ® CTEL + SHIFT + 5
3. % CTEL + SHIFT+ >

4. % CTEL + SHIFT + +

Question Number : 52 Question Id : 25498918929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Howr can vou underline a desired word but not the spaces using kevboard shortcut?

Options:

1. ¥ CTEL + SHIFT + W
= % CTEL + SHIFT + M
3. % CTEL + SHIFT + 5

4 % CTRL +H

Question Number : 52 Question Id : 25498918929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Options:

1. % CTEL + SHIFT + W
2. ® CTEL + SHIFT + M
3. % CTEL + SHIFT + 3

4 % CTRL + H

READING COMPREHEMNSION

Section Id : 2549892574
Section Number : 2
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 2549892587
Question Shuffling Allowed : Yes

Question Id : 25498913970 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
& Foreign Visitor to Ancient India

Foreigriers have always been attracted to India and many of these visitors have left detailed descriptions of
their experiences in this ancient, prosperous, culture-rich country. We find their records so interesting that we
read thern with great eagerness and cormpare thern with what people say about us today.

The first important traveller to India was Megasthenes from Greece. He lived here for a nurmber of vears and
wrote 3 great deal about our country and people in his book Indika. This work now exists only in quotations in
the work of later writers.

About 2,400 vears ago, Seleucus Micator, a general of Alexander the Great, tried to recapture the territories
once held by his master but later Chandragupta Maurya defeated him in 305 BE.C. and peace was concluded
by a matrimonial alliance. Seleucus then sent Megasthenes as his ambassador to the court of Chandragupta.

Megasthenes resided at the Mauryan court at Pataliputra near modern Fatna) and also travelled around the
country. His description of the shape and size of India is more or less accurate. He observed our two largest
rivers, the Ganga and the Sindhu. Both these rivers and many of their tributaries were navigable, except
during the rainy season when they were in flood. It appears that the waterways were used much more than
they are today. Roads were also used and the best known of these was the road from the north -west to
Pataliputra which may be compared to the present Grand Trunk Road.

The nurnerous trees that grew in India caught his attention. He was especially attractad to the great banvan
tree, the branches of which grew downwards and toolk root, These trees were so huge that the trunk of some of
therm could not even be embraced by five men. He describes one particular banyan tree which formed such a
vast sun-shade that 400 horsermen could pass the afternoon in its shade.

Two products amaeed him. One was the presence the sweet honey althiough there weere no bees, This st
hawe been gur made from sugarcane. The other was wool (obviously cottor) growing on plants.

Sub questions

Question Number : 53 Question Id : 25498913971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwho was the first irnportant foreign traveller to India?

Options:

1. * AlBeruni

2. = Fa Hien

3. % Hiuen Tsang

4. % Megasthenes

Question Number : 54 Question Id : 25498913972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The author of Indika was an ambassador o the roval court of:



Options:

1. % Asclka the Great

2. % Alexander the Great

2. ¥ Chandragupta Maurya

4 # Seleycus Nicator

Question Number : 55 Question Id : 25498913973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Sorme wrnportant historical events are given i a jurnbled order. Choose the correct alternative which gives the
correct order in which events took place.

1 Megastheres was sent as an ambassador to the court of Chandragupta Maurya.
2 Alexander the Great conquered large parts of India.

3.Chandragupta Maurya defeated Seleucus Micator in the year 305 B.C.

4 Seleucus was left in charge of the conquered Indian territories.

5. Seleucus had to surrender to Chandragupta Maurya.

Options:

1. % 123245
2 ¥ 24351
. ®#E54132

4 % 35124

Question Number : 56 Question Id : 25498913974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
We know that both the Ganga and the Sindhu were wade and large rivers because:

Options:

1. # they were natural boundaries of the territories Chandragupta Maurya and Seleucus.
2. % they were used as important waterways throughout the year.

2. ¥ many people used boats and ships on these rivers for long distance travel.

4. # travelling by roads were not very cormnfortable and hence not popular.

Question Number : 57 Question Id : 25498913975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which vear did Chandragupta Maurva defeat Seleucus?

Options:

1. ¥ 205 B.C.
2 % 405 B.C.
. % ZEERB.C

4. % 4B0B.C.

Question Id : 25498913970 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
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Sub questions

Question Number : 53 Question Id : 25498913971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AR F TelT o Ageanyf fadat 2wt =1 are
Options:

1. % arefereT

2. % B

% % BaEn

4. T

Question Number : 54 Question Id : 25498913972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SIS o v o AT X o gd 27
Options:

1. % a1t A

2 ® Ty

3 gnE AR

4 ® gegwd et

Question Number : 55 Question Id : 25498913973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T ARcaqU U g e TedTs @ U Sfede e @ H Tl a7 51 91 e o 11 oy 951 &0 307 & FaH e g g2

1. AT T Tl d 6 & ota ™ B U o o ©0 H W1 T
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4. RITgE o ST T W 1 &= T WTET e T TrT 2m
5. Feiead @1 g d Hi & HE STCHEATT HAT 52

Options:




1. % 12345
o ¥ 24351
3. ®¥54132
4 % 35124

Question Number : 56 Question Id : 25498913974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TITT 3% Te] ST eaer ot s T i =t &f?

Options:

1. % 3 ignE A ot S i 4t A o S off

2 % IAHT SEAETA G AT Hgeayy] AerH & & § T ST am

3. & S R A Fl G i AT d Ty g ATt uT Aienrsit ST Sgrel w1 Fui o

4. % woml § AT Agd STRHGEE 51 2T % SHie i A8 2

Question Number : 57 Question Id : 25498913975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tore e o ST O o S (Seleucus) F gOEIT?

Options:

1. ¥ 30587

2 % 40520

3. % 35580

4 % 48027

OUANTITATIVE AFPTITULE

Section Id : 2549892575
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section I1d: 2549892588
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
o gal & uiete wHe 132 | 3T 176 A1 31 92 g9 & 89%d o 71 g0 & 896 & aid ThaaT adv 27

Options:
1. % 1048 Fni At
> ® 1076 @At



= & 1078 o T
4. % 1090 T g7

Question Number : 58 Question Id : 25498914200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The circumferences of two circle are 132 meters and 176 meters respectively. What is the difference betweer
the area of the larger circle and that of the smaller circla?

Options:

1. % 1048 5q. m
2 % 1076 sQ m
2. ¥ 1078 5Q. m

4 % 1080sq m

Question Number : 59 Question Id : 25498914356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What value should come in place of the question mark (?) in the following questions?
302.46+39572—-123.47="

Options:

, ® 576.77

5 % 547.17

—
-1
-

[E5]
¥
Ln
=Y

Question Number : 59 Question Id : 25498914356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT 737 # ¥3d ®ea (?) & T 9¥ 97 A9 H0Em?
302.46 + 395.72 - 12347 = 7

Options:

, % 576.77

. » 54717
5 » 547.77

. v 574.71



Question Number : 60 Question Id : 25498914180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approximate value will come in place of question mark (?) in the given question?

24.96° + (34.11 + 20.05) + 67.96 — 89.11 =?

Options:
1 % 884

o o 346

I3
i
I

4 % 424

Question Number : 60 Question Id : 25498914180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FrateilE o9 ¥ WARES (7) & FUR 97 #9083 A 507 g AE0? (A= 3F Fa e
HIFTFAT FET 21

24 662 + (34.11 + 20.05) + 6796 - 85.11 = 7
Options:

, % 884
5 v 348
2 % 252

L o 424

Question Number : 61 Question Id : 25498914213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Arurn contains & red, 4 blue, 2 green and 3 yvellow marbles.

If four marbles are picked at randorn, what is the probability that at least one is blue?
Options:

4

15

=
®

69

2 v 91
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Question Number : 61 Question Id : 25498914213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
U FA H & AT, 4 Aiel, 2 5% 3T 3 Uiel AT 2l

At AT e ©F § T Aleel T S1d &, T 56 o1d &1 b1 @eaaT 3 o 3 & @A & &0 U e gime
Options:

4

; = 15

69

1_]

E

Question Number : 62 Question Id : 25498914210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& basket contains 4 red, S blue and 3 green rmarkles.

If three marbles are picked at randorr, what is the probability that at least one 15 blue?
Options:

37



Question Number : 62 Question Id : 25498914210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
U T H 4 A, 5 A6l #2507 & e o)

g o T HTele ATG e &0 9 I ST 5, o1 59 o1 31 SHICaaT 7 & T2 8 ¥ @ U Hiaiel = 6l 5T
Options:

7

12

,_.
®

37

Question Number : 63 Question Id : 25498914335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TT3EBOFANTEF MO 47 F e A Raom P g AF s S A T 3R B F
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Options:

. % 36,699

. » ¥ 46,893

. = ¥ 20,007

L v ¥ 13,398

Question Number : 63 Question Id : 25498914335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T 73,659 are divided berwesn A and B in the ratio 4 ¢ 7. What is the difference berween thrice the share of A and rwice
the share of BT
Options:
1 ® < 36.699

5 # < 46,893
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GEMEREAL MEMNTAL ABILITY AND REEASCRING
Section Id : 2549892576
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 2549892589
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following words will come second if all of them are arranged alphabetically as in an English
dicticnary?

Options:

1. * Hobby
2. % Holiday
2. % Hoarse
4 % Hobhle

Question Number : 64 Question Id : 25498910032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % Hobbvy

2. % Holiday

. % Hoarse

4. % Hobhle

Question Number : 65 Question Id : 25498910120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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1. % &
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3 % o9

4 % g

Question Number : 65 Question Id : 25498910120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the option that is related to the third term in the same way as the second term is related to the first term.

Crowr - Carricn o Leech oY
Options:

1. % Bugs

2. ¥ Elood

2. % Meat

4. % Bones

Question Number : 66 Question Id : 25498912831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % g

z ®

3. % a7

4 & =

Question Number : 66 Question Id : 25498912831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following arrangerment carefully and answer the question given below:

WIR%AJE#7MT219EHIASSFQSDGEUSE

If the positions of E and A are interchanged and similarly the positions of R and U are interchanged, then how
many symbols will be there each of which is either preceded or followed by a womwel?

Options:

1. % Nl

2. % One
2% Two
4 ¥ Three

Question Number : 67 Question Id : 25498912889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:



1. ¥ BDHLE
2. ® EIMOV
3. * FIMRX
4 % WMPRUX

Question Number : 67 Question Id : 25498912889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find out which of the letter—series follows the given rule:

MNurmber of letters skipped in between adjacent letters in the series 15 odd.
Options:

1. ¥ BEDHLE

2. % EIMOV

2. % FIMRX

4 % MPRUX

Question Number : 68 Question Id : 25498919017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the following question, a group of three inter related words is given. Choose a word from the given
alternatives that is sirmilar to the given words and hence belongs to the same group.

Gorges : Canvons : Meanders
Options:

1. * Moraines

2. % Tributaries

3. ¥ Deltas

4. % Mountain

Question Number : 68 Question Id : 25498919017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % Eag

2 % Fuegr

3 ¥ 2T

4 % wdq

Question Number : 69 Question Id : 25498919856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Four words have been given out of which three are alike in some manner while the fourth one is different.
Select the odd one.

Options:
1. # Murmbai
2 % Cochin

Z. % Kandla



4 ¥ Mysore

Question Number : 69 Question Id : 25498919856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Section Id : 2549892577
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 2549892590
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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3. % e g AR
4 % T |t w5 I

Question Number : 70 Question Id : 2549895231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
& Trade Policy consists of:

Options:

1. ¥ Export-Import Policy

2. % Licensing Folicy

2. # Foreign Exchange Policy

4. % Balance of Payment Policy

Question Number : 71 Question Id : 2549895279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 71 Question Id : 2549895279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following stages of the life of man in Aryvan Society in ascending order of age, is correct?

Options:

1. ¥ EBrahmacharya-Grihastha-Vanaprastha-Sanyasa
2 % Grihastha-Erahmacharya-Vanaprastha-Sanyasa
% % Brahmacharya-Vanaprastha-5anyasa-Grinastha

4. % Grihastha-Sanvasa-Vanaprastha-Erahmacharya

Question Number : 72 Question Id : 2549895469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % afgara

2 ® TieAtawa

3 % wEaEm

4. ¢ AETIRTREAT

Question Number : 72 Question Id : 2549895469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which organelles in the cell, other than nucleus contains DINATY

Options:

1. # Centriole

2. % Golgi apparatus
3. ¥ Lysosomes

4 ¥ Mitochondria

Question Number : 73 Question Id : 2549899792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Options:

1. % erae

2. ® i tha

3. & S Ha

4. ® Ty fataar

Question Number : 73 Question Id : 2549899792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is the author of the book Mother India’?
Options:

1. # Annie Besant

2. % Katherine Frank

2. ¥ Katherine Mayo

4 % Sister Nivedita

Question Number : 74 Question Id : 2549895333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. v 4 3RE

2 % A BaRC

3 % 4 BaRD

4 ¥ B CaRD

Question Number : 74 Question Id : 2549895333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Consider the following pairs of minerals and districts with largesignificant cormmercially important deposits.
A Apatite - Visakhapatnam

E. Chrornite - Cattack

C. Gold - Nagpur

D. Gypsum - Anantapurarm

which of the pairs given above are correctly matched?
Options:

1. ¥ AandE

2 % A BandC

3% A BandD

4 % B CandD

Question Number : 75 Question Id : 2549895522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. & =ZTgeq - Fectdad - g

2. % Fefda - ST - g

3. ¥ ZToEd - B - wedtdae

4 ® gedfdes - gfte - Zren

Question Number : 75 Question Id : 2549895522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



which one of the following is the correct sequence of a food chain?
Options:

1. ¥ Diatoms - Crustaceans - Herrings

2. % Crustaceans - Diatoms - Herrings

2. % Diatoms - Herrings - Crustaceans

4 % Crustaceans - Herrings - Diatoms
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Surmrmer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmwork, socializing, decision rraking, mdependent and responsible living and more. [t aids the
overall developrmernt of a child and children hawve fun during this process as they get to explore new arenas.
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Group Number : 3

Group Id: 2549891943
Group Maximum Duration : 15
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Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0
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Section Id : 2549892579

Section Number : 1

Section type: Typing Test
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Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Number : 77 Question Id : 25498927124 Question Type: TYPING TEST Display Question Number : Yes

There are 50 many ways we Ccorrununicate online. There is email, text messaging and different apps out there
that support it. But using email or messaging is not always the most effective way to cormmunicate. In certain
circurmstances, you should awoid therr Sure, it 15 easy 1o hide behund your cormputer and say what you want to
say through the kevboard. But sometimes you nieed to step out into the world and use your voice. Here are a
few situations where it would be better if vou did not hit send. Avoid hitting send to resolve conflict. We have
all been part of an email or message string betweer two parties trying to resolve an issue. Sometimes, you
might be ore of the two rmain participants. With every ermail or message reply, the issue escalates. In the end,
what was perhaps a relatively small issue has becorme a much bigger one. So, instead of using email or
messaging to resolve the conflict, either call the person or schedule a face-to-face meeting. If you are the
recipient of an email or message from someone else trying to resolve an issue, resist the ternptation to resporid
through email. If email is your only option, do not copy other people on it. Doing so escalates the issue. Avoid
hitting send when you are upset. After an upsetting situation or interaction, what we need is a cooling dowrl
period. Ermail and messaging do not let you calm dowrl. 5o, avold that, and once you have calmed down, call or
visit the individual to discuss the situation. If you are on the receiving end of a rude ermail, avoid the urge to
reply. Give yourself time 1o calm down and then call the person and ask to discuss face-to-face. In the future,
decide in advance that you will never use email or messaging when you are upset. If you feel the need 1o write
sormnething when you are upset, hand write a message. Avoid hitting send to send bad news. No one likes to
receive bad news and receiving it through ernail or a message can add salt to the wound. Using email or
[Messaging to conununicate bad news can send the message that you do not care or that the issue 15 not
irmportant encugh to warrant your personal attention. When you use ermail or messaging to cormununicate bad
news, yvou have no way of judging the reaction of the person. Most likely, people will be disappointed or upset.
If wou are not delivering the news in person, their feelings of disappointment may escalate and create an everl
wiorse situation. Lastly, when you use email or messaging in this scenario you appear cowardly. Custarners, Co-
workers, bosses, and friends appreciate people who have the courage to communicate bad news in persorn.
while there is no doubt that email or messaging is a quick and efficient means of communication, it is not
always an appropriate one. Follow the guidelines abowe and avold using email or message whern it 15
Inappropriate to do 50,
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